elkably.com

Yg 421 = O

. B\
1) In the triangle above ang@F ind the measure of angle #DC
A) 57.6 55 =372
B) 50 5
C) 110 ;= —é/
X = i)

2) Which quadratic equation that has a sum of solutions -8 and the product of the
solution 15

A) x?+8x+ 15
B) 3x%+ 10x — 8

C) 3x2—10x+8
D) —3x%=10x —8

)If—= 3b Q’Z(BD
3a3ﬁ%b =11 a=6b
Flrj;i)thille;; of b 2 (60) S W

B) 1/11 18l + 5 =
C) 1/33 22
(D) 11/23 o *53
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4) If sin(x) = 0.5 and 0 < x < 90. What 1s the value of cosx ?

2. X
A) 0.5 W
%
B) —0.5 =
5
C) E 1§23 = S\B-
&
D) _¥3
>

Soh

9) Which of the following is equivalent to the expression below ?

A\

2Xx 3 (x+9”:i’_ X—7 (x-0»
x4 —3x+2 (x—=1) 9 x—2 (x-D
A) M 231__;42 Lo et -2¢ -3 A
x2_3x+2 7‘1"2*"*2 .)C?_u %+
2— —
B) —zx L. @ 1 27‘7- _5) -3
xX4—3x+2 — "’:i:::;——“
T _Yx—+1 X
2x%—3x-3 *
C =
x2_3x+2 axt - 3x -3
2 575
37
.
- — 3
D)
x2—3x+2
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o) Ify =w + 1 has a vertical as;glptf)t@ a)and ho}izontal asymptote y = b .

. e wm plete
Fm@ (v) >¥+1=¢ \ ) g

A) 5 \)5 - — vertiod Horigerit
Y f:—"(s ] 2,(5'1 yxs_‘t Ne asy.
B) 2 | @: 5 ) G2 |
C 4 [a - U | / 4‘ ;(:jﬁ 2_’;,/\1’ ‘3:%
. - 7. (,__B A0t
@ 6 gb J ZZ_‘:'/“ oo
e ,a/b)f J-y-2l= | -€1 = & N

7) 12 red and 10 blue balls in a bag. What 1s the probability selecﬁg red balls without
feplacement ?

F/d)o. -y ij
A) 7/36 /o A :
2/7 :
C) 2/22 |2 !

D) 36/121 22

8) There 1s a competition. It you answered a correct question you choose a gitt from

24 boxes. One of these boxes contains a car
If a Farida answered the question correctly. What 1s the probability that she

will get tha car ?

A) 1/7 |
@1/24 ﬁ

C) 1/12

D) 1/23
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A 1 ~
B) 4 _%. Xs220
©) 2 x50 |G
G

10) Find the value of 32 +4 X3 —3%2 4+ 8

A) 18 q 4+ x3- 1 e 2 ol
B) 23
C) 17 Mg 12N 8 2
D) 20 ) Vo
o /,16\77
jmal(m

Mty > x+ 2 and 2y — x < 2. What 1s the greatest Integer possible value of x ?

C) -3 -
9(a+) -* =7
D) -5
Qx""""(:z
2xX-X*= 2 -
)

12) There are 3 chocolate. One 1s triangu ar plain, one rectangular plain and the third
1s nuts. What 1s the probability to eat s plain chocolate ?

A) 1/3 /
B) 1/2 & .~ 2

@ L %%M E-4 olose 19178 Bo
D)/ 2/3

s]o 1918399
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